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BERE LEEREWN AIEERE B) iR (M) - (B)
N ERREZING 1,327,974, 334 1,324, 165, 222 3,809, 112
ZAEE LI 137,934, 756 135, 743, 773 2,190, 983
BERBTMSUNE 9, 483, 500 3,407, 600 6,075, 900
g Z DD IR 5,931, 298 4,091, 309 1,839,989
" FEEESEEEIG 2,989, 000 2, 055, 000 934, 000
I EEREHEF N 1,865, 491 9,016, 026 A 7,150,535
E H—E R EEURASE (1) 1,486,178, 379 1,478, 478, 930 7,699, 449
3z A& 932, 665, 003 901, 067, 745 31,597, 258
% E=xE 248, 426, 566 245, 418, 394 3,008, 172
P EHE 231, 297, 936 224, 075, 856 7,222,080
D g (FIAEABERE 190, 240 299, 300 A 109, 060
R R T FAIE 127,503, 736 154, 575, 981 A 27,072,245
EER S E IS A 25,137, 659 A 31,063,511 5,925, 852
ZOnER 3,915, 296 2,137,448 1,777,848
H—ERFEHERE Q) 1,518, 861,118 1,496,511, 213 22, 349, 905
H—ERFEBEFEEQ)=()-2) A 32,682,739 A 18,032, 283 A 14,650, 456
ZEH AR LN 214,416 278, 618 A 64,202
AL T 23,107,010 9,767, 815 13,339, 195
1|7L g Rl E - SRE Ik 2,633, 567 61,122 2,572, 445
= ZDMOY—E R EESINE 4,877,168 11,701, 320 A 6,824,152
g H—EREBSMREE 4) 30, 832, 161 21,808, 875 9,023, 286
3 THFE 4,399, 333 4,297, 329 102, 004
f%t & HifEESTEE 34, 803, 356 33,661,912 1,141, 444
B | g |AEEES A 0 596, 434 A 596, 434
o ZOMDY—E R EENEH 452 16, 201 A 15,749
i H—EREBNEREG) 39, 203, 141 38,571,876 631, 265
H—ERFEBMERELE6)=4)-(5) A 8,370,980 A 16,763, 001 8,392, 021
BEEHREE D =3)+(6) A 41,053,719 A 34,795,284 A 6,258,435
MR R B E TSN 96, 233 0 96, 233
Iy |BIE & T 539,916 0 539,916
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B R =48 (10)=(8) - (9) 539,916 A2 539,918
Bio AT S AEENEREB (1) =(1)+(10) A 40,513,803 A 34,795, 286 A 5,718,517
HEARL. ERBRUEER 012 290, 500 647, 700 A 357,200
LEEBISIEELE (13)=(11)-(12) A 40, 804, 303 A 35,442,986 A 5,361,317
ﬁz AR BT B IR E4E (14) 2,222, 425, 000 2,257, 867, 986 A 35,442,986
i | SHRRIUEIREE (15)=(13)+ (14) 2,181, 620, 697 2,222, 425,000 A 40, 804, 303
;ig HAXEHAR%E (16) 0 0
o | OO EREE (17) 0 0
= [ DMDFELEFEILEE(18) 0 0
ﬁ% REGGHEDEAER
# | (19)=15)+(16)+(17)-(18) 2,181, 620, 697 2,222, 425,000 A 40, 804, 303




